GENERAL PUMP 4 member of the interpump Grow Manifold Blocks
D10117 - D10118 - D10119 - D10127

Mounting blocks provide flexibility to mount
additional accessories to your system.

w Sy

O =

Z

[ N =

= Yo

T

o3

70}

14

Ll D10117 D10118 D10119 D10127

1

o

8 Part Number Description Material

O D10117 3 way, 1/2” NPT-F x 1/2” NPT-F x 3/8" NPT-F, 4,000 PSI Brass
D10118 2 way, 3/8” NPT-F x 3/8” NPT-F, bolt-down, 5,500 PSI Stee"Fi"r:’i'g;] YZD
D10119 3 way, 3/8” NPT-F, bolt-down, 4,000 PS| Brass
D10127 2 way, 1/2° NPT-F x 1/2" NPT-F, bolt-Down, 6,500 PSI Stee"Fi"r‘]’i'gr‘l YZD

D10117 DIMENSIONS

1/2-14NPT

Note: dimensions
. ) [17s ]
in mm and [inches] |

1/2-14NPT

72]
Y
=
-
=
LL
o3
7]
14
w
-l
o
-
O
o

3/8-18NPT

- General Pump f@ e,

B is a member of g F
@ the Interpump Group &NV'GV Ref 300903 Rev. C
12-21

GENERAL PUMP

\\\\\\\



Manifo’d BIOCks GENERAL PUMP A member of the Interpump Group

D10118 DIMENSIONS

Note: dimensions [150
[———

in mm and [inches] [#] [0 ] 8
0 ~ 5 [‘sg ]
1

] —

}
[146 ] B3]

3720 [ 1860
[ ] +>

[ ]
X 0
THRU

PARTS LIST - D10118
Pos. # | Part# Description Qty.
1 2530077 BLOCK, MOUNTING 1
2 2200072 HHCS, M6 2
3 2203410 WASHER, M6 4
4 2203002 NUT, M6, NYLOK 2

D10119 DIMENSIONS

Note: dimensions
in mm and [inches]

3X3/8-18 NPT

[20 ]

508

Ref 300903 Rev. C
12-21



Manifo’d BIOCks GENERAL PUMP A member of the Interpump Group

D10127DIMENSIONS
[1.97]
50
Note: dimensions [1.50]
in mm and [inches] [.79] [.20] 38
20 ’“ 5 [.59]
15
| ey
[1.46] ~[73]
37.20 18.60
1.97] +
50
[.28]
2X 3/8-18 NPT 2X @7
THRU
O PARTS LIST - D10127
Pos.# | Part# Description Qty.
- 1 2530131 BLOCK, MOUNTING 1
W 2 2200072 HHCS, M6 2
3 2203410 WASHER, M6 4
4 2203002 NUT, M6, NYLOK 2
= —
GENERAL PUMP 1174 Northland Drive « Mendota Heights, MN 55120 Ref 300903 Rev. C ®

Phone: (651)686-2199 « Fax: (800)535-1745 * e-mail: sales@gpcompanies.com * www.generalpump.com 12-21 GENERAL PUMP



